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Robbins)

M ARG AGER IS0 T3 Il
eI A, fovames 79t FHeRe F T @ER
TH 9S8 I” ("Socialization is the ongoing
process through which, an employ begln to
understand and accept the values, norms and
beliefs by others in the organization." - Burman
Nota)

ST URVSEED!  MYURAT Ui G

¥ b e Y@ st sHereEer
ST [iEWE], aeR, T&hR

T, _
mﬁﬁmﬁ%t@ﬁfmiﬁmmw

s |

HISToh! ATEIHAT TR THI-FHIHT = o
A B MED | T AW T HHER SeTd!
e, YoIud], Shia wd dfafe, wimsfres
T A AR ST §B | Goaree
AT HES AT fwior T shemn wfsiel serfe
TS HSTh! 4o 3299 § | TG 1Y FHHArH
I STeRIEh0TeHT THE 3e39 JUYHR B :

JUREHEAT TT ORAIar afg (Growth in
production in quality): ¥Tead & YAw TH
AR THERT  HISh!

e W (Goodwill) 3mfeesT aRHT R
SR TR SHEEs hEFsaeTT THH, favaw
T UiIfed qoUsd Afees, SHal el S
Wq@mmﬁmvﬁ%ﬂ#
s |

FE GoATARAT ﬁfﬂﬁﬁﬂT ®$q (Continuous in
work performance): WSSO UBRAERT
FHHERIE HTead! Tl FEE FerTd TE fom
Y HE SR ST T 3Tehi 3299 o |
HAITSRIHR AIHEE HHOR] HH TR
Hied BISX 3 9 0 Ufhes | TS AR
A T WA SHEl wRERd @S S
Tt Tafidar sy e |

BAGRETE FHRAT FUR (Good relation among
the workers): {4 U FEEITS: TR T
HIER T HHARIH o= gFaTes Wl 5 |
foeiesen! @ied T g e Bk g1 99 | ST
HRU &1 Grgoh! ST S TFD | §5Hh FRU
mmmmawlmﬁmam
FHARIGE THoIdicHs  aaeRy s TR
ITISA U TTHISTeh IR TS |

FHURIG! WIAea  (Stability in  employee):
Hieden! Hpfa T dfafta, diedel wHarer
TR3A g forenmg, wimefe gfen qe M 7 g
SRAT ISR IHOER HIETER ST THES |
ST &1 HHARIATE AT Hfasqyfa ffved mes T
AT IcTfed g |

. TTE@IaRUT UERT ST 2 S e |

TR TRt 727 SHHarieeeTs a9y saq
S | eI T g, Aegar 1 Hegiaufae!
HHEE &1 TR0 W8T 1 T3 IRy FHHER
AR WIS 32T 9 | huEres
SRt T fafi= ufra o1 1 fadfeeor
TR == T gfes

gETts et wtwar (Process of sociolization)




%Wmmﬁmﬁaﬂﬂvlﬁm

(Pre-arrival stage): {1 UM HHOR HEACFHl

frgfts e o Trieweh aRel QU1 ¥9a1 AT

&9 | 35 Tl sremem Men e der, 3@
Heifedss 99 oo Pl 9 | TR SMERET &

TUH! YESTFeRT UH! G IS | IHs AFHA
FaT YA ST e S | S R Usw
forma (a1 wreeet) U, Then &1 MRt gHE T
deEaE 9f daT YO TSRl |IHISIhIshIl
e 9 |

W ST YATfeiewoT (En-counter stage):
I HHEr i o T Jam o T©s | 3™
e HHERIS B [ 79194 Hegd 6D |

ST gehe! Jgifaeh JAHINRT Srdfosharl W |

IE IS | T R U HWEHHI,
gulaesdn wm fae IR geax g | T4t
FHEARAE G Tl FHaH Jafae g1 s
Hiod T | T9 ATEIH T Ui, TehH!
GILUTESRe! HAIfaH foeR 18 s gfafaesr &l
0T Fod ©d NS | e 99 suariars wH
TSl SRR SfteenIvl T@IS TehAT Al Aol
T ITA IR T WIS | TSI SH HEAR!
oA Fene {5 Fae el ST | 99 ST YAl
HHAR], GRIESK T T HHIARICE TS HEAh!
e Fe=@wl T faqus | iiuss wEeEr
TS HEATR! U feart & | e = e
TR HHER! I TSR g 9 Fagaq, | a9d
T TR AR TH IUS | HEh
e foIuaeeH SRS gfesh et af T4t
FHAAE W TSR TR 7 TRRIS
AEHTeTE AT YUeh! §F 968 | ,
TUTR &t ufkued s@en (Metamorphosis stage):
TE A WS T ST 8 | I9 el 39
TR AGHM I IrafashdHl ek U4 S 99 |
RO AN HUARS F9TY HUEEHd gt g
TR % S &S | SHH! JUAT STTLRON IRadH
g qul HEISER IO FHER T8 | B Hvg
HHARIAE 91 FEH I TR IRue e
R Wi |
wﬁwmmmmm
TERIEl HEHd g1 HEURIEE HEHI A Ffies
O Y STEHd g N TeHd g 9 HHARIEE
TS IR T ST §a |
wﬁwmﬁmmm
AEEF TS | SEA WISl Hewqu wHfa o
IYAS q WEF T Faes 98 YA giEed T

@ (e Ot - e -1 - AT ST TGS

. AEeFhdEl dged g ° I

Hewaqul SUeied Tftel TS a8 | 74l wHaries
WMo ATk fasienl SAUfEsRl 9ad1 T4

VTR FAURUTER ATET Terg, |
Wvﬁ!ﬁ@ﬁwﬁﬁaﬁama | fafi=

TEHEEH! SreHT qiH TIRKR Ufehl R Th Bl

B | B U TS o SUNThdiel oRg qdl e

“Srarel aE" (Perception of Excellence) T3 9
TR B | a%g qT YRl TURRenl e o
TeeTs Ggfe & T g-awery e T wiked |
MURR A ‘S oRg o W U1 feRiareEen!
Y TR B, SO AhTeh o ATAY ATaTThaes
T T I &HaT 984 769 | (Quality is the total
set of features and characteristics of a product or
service that bear on its ability to satisfy stated or
implied needs.)

TR oY S a%g d1 War A=fHied
fodivaeEs THUa o1 SiE & | @ foRmare
Sefed g TA1 JA FHSA (Hardness), HITH
(Thlckness), @& (Shape), T8 (Length), Hrei
(Breadth), T, aifedt S@mee snfeems wftdfed ™
gfes | B a%g v A g favifa fadmaeears
TR IR TS, q9 Al SRgas U oy’
! TN GHIED | ORI FeZehl AY I=4 Al
fre ot wefem e | 9% §@ (Right)
TR &9 | TURRe SITeTE sitst T o™ T
RS | AR YR SRRl WfaeaHi!
SMURET ¥ T g YU g SUered TS
(Quality product at low price) B | e HEEY
TRYTIEE FHIHR B :

Tom Peters %1 ATAR, “SUHRRIGRI m agyfa
9 R ¥ 1”7 (Quality is the consumers'
perception of excellence.) ,

Phili Crossby @I &R, “TUER IRl
(Quality is
confromation to requirements.)

John Stesard 1 JER, ‘B a1 sow=1 T B
R 1R T gfRa 7 ToraiEa @ 17 (Quality is a
sense of appreciation that something is better
than something else.)

Robert A. Broh & IR, “TUrEi T
M UEH THERl &R Y T e JedHl

wﬁaﬁmﬁmm T uf1 & 1" (Quality is the
degree of excellence at an acceptable price and
the control of variability at an acceptable cost.)



M Wy R FJ@@mad (Total
Management-TQM) &Y == g |
(RBB, T&-4aRT Terq# TFIE 2004./70/0)

T 9%50 Th HTEAIH! &THT TWERRTT ORI
GuR T frlte Frewreeas aifye 9g-a T
MU SHIRATH WS | Tl UER FEee
T3 A B | TEIRAG AR GUR, TeHgE!
gfemlo, FHHaRieEdl Haad I AR
Yiqasa AThd a5 TaH, JaTehl TURCRAT fRm GUR
TRA WA A T ORR HEwNT o | 99
FayREeRl fae® W.Edwards, Deming, J.Juran,
A.V. Feigenboum @ as! favmsess faviy
ANTET Rl TS |

Y R IR ! AR H, e
T SRR B SIS Hes, TEHN T g
T WIS PRATheaHT Ul Saaere T4
A, e fORwR 9 Tty wREe &9 |
TTHIShAlehl T U Ufahal, ATehe®ehl ol
TG T WA URGHIA T WISl HHARIEEH
i Hes Wi fHenet weend 3t SrfamER o
ORI ShrsitaE ifs |

T UK SRR ST ﬁa’ﬁm fagreee
YR FHYHR B :

Intenational Organization for Standarization
(ISO) &1 IER, “GHY TR HEEAUH Heh!
TSI AT SHAEATIAH] Geehiv &, J ORI
HfEd 9 | A T TSeEH! S snenfa
TS T IT Tehe®h! Trghte , WS T FHISEH |l
YEEEEH FES TS e Ievd faua
%9 I” (TQM is a management approach for an
organization, centered on quality, based on the
" participation oa all its members and aiming at
long-term success through customer satisfaction
and benefits to all members of the organization
and to society.)
R.W. Griffin % JJ9R “T97 TR T,
| TUTRRETS - W HEhl  GUUSe a7 SHReA
OIS U qieml  GRedd TdRd $ed
eI T3 I gfaasar & 17 (TQM is
a strategic committment by top management to
change its whole approach to business to make
quality a guiding factor in everything it does.)
R.Kreitner & JFFER “THY TORR

iy fowR guR, 9ifes & 9bma, o&g aud
Jamn TORER T UeHHl Ggiedr faas @A
e d@gfa a1 Wl fasEesn waE
Rt T @i 1" (TQM is’defined as creating

an organizational .culture committed to the
continuous improvement of skills, teamwork,

Quality A

& FF EF

processes, product and service quality and
customer satisfaction.)
TH FHIA IARA U AW HaRAIHA IHU
TR STFETIeh] TR YHETHRI S
T e fafEa STaRyg FrieE T 99 168 : .
e Ffdagdl U GHREAT AT Tehe T+
g0} TS Fe WA HIERA FHARIGEHT ORI
AT HRGRH TR
TR GUR "iafags i 7
TURR R ARTAR! SFHH T, eATg T T ANTd T
TRTHIRAl T HHAR qeEd 9w Ueshesn!
STETIHAT I ANTETS SR TS URGR GHR SRR
T TH,
TR GUR SHRERE @ Tr-’f Teargd ™ T
AETIHA WH, O GUR &Y, HUSUS e
HRRIEEH] TN 7T,
Y[ 39 SR (Zero Defect Program) SJEERUI L
I URAT a1 UGfeEHT ShiHe GUR T8 5H fS |
T ORI oW fafye aeee o
ASREEh! FAN SRS T YHEHRIaeR! fARierr T
S |
Yo (Quality Circle) R I@@ Wogrg |

HeA a1 SRl HATEATE, Foarehel A48
HEER 91 FHIR H 99 1 G
TR TR dfeaH, favemur T quram e
T T I HREE [UEEh 9D | 99 9R%0
FI TUAHAT TR & HTH! FGURO B A
participative management T TSA WEIH TIAT
Wh! B | IUTE system to compare productivity,
quality and its enhancement YR U SIT&AT T TReh
TS | J9es IRV 1S Quality circle is a

workgroup that meets to discuss ways to improve
quality and solve quality problems by means of
participation, ~ teamwork,  coordination  and

improvment g 9T B | T9e ORI
T UfedH, THIEMHT il Sehal 1 FHIES
39 gfgem aen fawiiE afed wEiaam aF s
nélmmma%mmmmﬁ
T ST STEE T SEAR GreH THE a1
AT 3UH sharing 9 BAhA T YIKR
afigfsg 7+ fafuer T qorskes fases | a@H
el 1 ToWesl Wiess Feviiamnl Jua
eS| Y% e 0 9=l A HWES al
JUEFRT g WS | T3% Feedeh et 3fea
yfirehl i | & FHH FR §F | T TR
frafia o SA%e TS T AT ThIgel HIE T
HHEES oIt o+ | Sahaiele 9l a1
IR 99 S T F9R FEEId TS | a9l
IR @ HHBESR TAE a%g qU W

oz e e fr. g, E-v 29 €



B

FFEFR & FEEEE & & & FEFEES

TURGEHT HHl AEA Al I& gygen! fmio 1fA
RS J YUresh S TR TS |

St fagM Kauro Isikawa & TUTesheh! 3TN
TTH AfFS | JHHT &AM 39 Maslow &l
Hierarchy of needs ¥ Douglas mc Gregor %I theory
w1 fagreeas UG sHeewt g | e
LAY T3 Techniques Sl TIAT A THW
Continuous Improvement Procedures = T foig
eI IRad-el i TS SMUREien i
TR B | TaEUIERl &HT YA TR

FEYURUIEE YA GURel e U 3fash

T fagae! a1 YA TH i | :

FHHATT SAROT WY FHIATarn! HTEamee Teel
T 7% wES O GUR TN URS/ AaURes
Tgfe 99 UARA UEfd TOEEh & | 9T 9%%0 |
WA K. Ishikawa & f9am@ TR 69 %% 3@

FEETT TAETH YOSkl HEHROT AR |

IAEAH] JURR GUR TH IARHET THaf-yd T
I FHAR Gifaa a9 fmio 1ies T3 g
TUrEEh 90 | I9Hl UK TR SEEehl
BAFRA TH, HRUGEH! AFHYH TH, SUTH Gha
Y T T GURHT AT HE-agT A | [Or=h

- eTfiTaTET Senfia ek QuR wefa & |

UTERGT  HTEVESAT, UEHAT T JeVER  SE

mmmwﬁwaﬁﬁ%mw
AT FESTETHT SRR ST,

FHIR/  FERREEARE  SHgedl e
STaThSfedl Ufd Ted TRISH,

HeWIfiaresl 99 ¥ &S g ﬂ@@r wWRARd
HHARR T9E TR TH,

g i ¥ Sgsn fagas! Saeiiis wan
T[ehT T,

SCUTEh! UK TTeR! GHATY=IaaT I TehT &,
T HHSIRIEE HASS ANTd =10 7T,

HeT HEHIREh! STJHEeh! hal T o,
HISTIRE! &1 foIhT TR ofiT,
wmmammwmﬂm
I,
Wmmmmmm
T |

JUTEERST UERAT

TSR YR TR Mg iHehar qfe=m 7,

o utrament fagemor 1, -

YR TRT e o 7=,

@ (2212 5o - g -1 - e e AT

% T TSR STTERET GIe0 T,
b eI ! Hedisheh! STTERAT R T+ |
Quality cnrcleaﬁﬁamwmwm 1

s

\—m

FrAehTaTT SFER TUrEshel WISTHT Wl HFEM
UGG SEqHl SfE HH FHSREE S TS
fawom S oo | SUFt SERTE @RI
SRS SR & & @hiad Wl Al
FAYRUT FEErhl o T W wEeE
R §8 9 HUH fava™ T&Es | ok I
- qgs ge Yt fefe ™ fw o g
Wmmwnmmﬁm

EEHT TUrh | 99 |
QC Steering Commiittee

l

Facilitator

QC Leader
QC Member
Quality Circle Process
T afeEm,
AT FTeIfHeheho, -
TSR BAIL,
TSI BAIS,
RS
fawmiftesht Validity e,
¥ Gh1a GIRI Management HT Y&,

QC Leader
QC Member

T qfiom,

AT |

JUTERDT SEIIET

IeqIeA o Harh! Ui foima Stfvgfg T wfit o,
AT GHIEMHT AT Wrfesh Tee T,

FEFER & FEFEEEFEFFEFR

EErCRICH

yfafy o A B wd arfers snfe fafy

IR a1 Ya1 UBRIH 99 SHHErisl geiEr



6!

FEFEREEEF &

IUTEEHAE g TISqT! BIel oat Jagrg |
HHERI! HHEY Fiersd &S |

I Ao §9 | AT TES TN SqH WS |
TE TR T Ul TS | SHeTS: SR
T ekl WA WEIYE T g@l A gl
T |

T Fei e g Faw! T 9UE T9 w1 g
IR TSHRT FHARIEER TIE T &5 |
TG SRR U giREdd sEm
TS | TUKR FOIYRT Hewaqul 981 &1 9= J&H I9e
Srefeum s | '
AT W HEERE Folh! STl &2 &5 | Ti-
T yfafieesh! famrah T 75 | Tewed!
& TorehTd g 9 |

TJHEE FUFRIh] S&A T Al g0 ITET
T |

FEEIA T HHARG S AT =Y Y
T | TT WA HoTerTHT FesTl s 55 |

gt fte @iw@T (Career Planning)

i fohm Ao =l g7 =frm e fam,
&I, T&TA1 ¥ AFEfa STgERe! SUTh UsFI wred
T T JATER & STTETeTE SAReS |

el e fafi yewRen oy, &mar T gaaes
WH TS W o= ek vemes iy formm

T |
A Afersh e, aifem X sifiefasr sy
e Stfirenay SraEas Sfawe sifae 7 qfEy
B5THT TSTIRIRT AT 93T 18T et =9 T 9 ea
39 TETETE ISR E |

ST A T SR o A % T e |

=it fi g 99 Y1 3 T wwe e
HHEH] 327 AAEeTeh] HIoHl RS |

AT Ao T Wl &5 H1 e T
STITX AICHT el TR YTSeh! SIS YT ST
T et faenm g7 ges | .
e 3= e S R ugEn faenedteea)
ST STk Ao T STRET YU <a ST
&I JSTTRI! ST SHaferd AT a1sg 6o |
T sforerl @ed, s A, smoT v
oY T THareE SISTR TeredTeRT SHRAT foenrg T T
T SITAR! ISATRY Wiferh! enfit Bfsd g o |

AR SO IS I T T e e g
fafy=1 gfa fawmt anfit enfireg o ot o)
T e aferesnl 579 | ‘
T g foemr TRl e aakar adey
qAT T8 YSEEH! AN T TS | Schermerborn,
Hunt and Osborn & gt faerr drsmmet grsmemr
T fo=IR T@e1 7 : "Career planning is process
of systematically matching career goals and
individual capabilities with opportunities for their
fulfillment." ’

gfvr. forshra Frsmrent Safs &t (Individual level)
T HISAIHSF 94 (Organizational level) el &9 |
3 fosmraa &l 90 @ T 2 9 AN aw

© el Sl ged, gar, fomen T e A

SATHH] T 7T 16D |

Hfthehl Ted, W], W&, Hrdeyd, fau, I
A, T SRl favaes ¥ ST AT Gher
1 AHFAATATS LR 7T TS |

HISTH! Yo7 7T Y&kl R T ISR Y397 TRES
¥ TR R GG JUsRarh! SR
ITH FH T8 T FEYR T=H IS 9
Torszre =t e fargero 7 g9es |

I fehraeh! HeomTa gemee ¥ 5 =fis et
ST FSTH T TR I9I SUEE W& T ST,
FE, et ¥ T afreesee SeTers wud
G el Foarer T 9+ favres we |
TGl WY & &, vew qun ot 9 g
T, TIfer YoM 71 ae Sl TR ST STHRT
A ALY T foamrent srewr font fes diear
R TR e |

HerE g Aol SAfhers ISR &Y T sqeEE
Y gfahel for &l 16 |

TIR g THhenl WUSHT I SRS wHariess!
A T fo Te g |

TS SAfchehl g forshremn frgare fmm
SFRffed Jeresen! Heerul i Rl &9 |

ity feme drstemaT ferdrerar

e ubrar . =fohis fafm soa fieds
3T T THUTS 3Teh] g S Safhes wee® Sifad
T 3 R T gfa fasmsr emeRe
TINRH §B | THUDS hi IeHT TE1T g il
TeYert T Sifae afye sim, 7ot 7=t Srt araEes
T AITTHEEET 4 71 g U+ ga1 safere! o staee
g IG AT H! Career planning I =
R aferem g9 |

I gt Braeen - i s 5o
foRioa #rf Sfem T sra Sy weeEd
YSEARET G- Whl &5 | THS Y s

o P S for. Redg, TE-v vy €G>



AR 5 | T8 HE TR T HHaresars 1
Freel fafi= HEaEEs YaH T 69 |

s fgve : STHETE SYZT g1 hreEHl
wfres fafirear wifte T AHl T A TS |
T Career palnning A1 R @1 @A =Afwhers
A T GERAT SEEhd T T "ean
WEew | Al Ml gEIE HEAgHE 1 FH
YR oM HRU SEhl (AU HeRATeEHl
a1 Rl A= TEdr TS | '

ae fvew wwaw . gt fawmasl Aol ud
e Siad T %/ Sftad se dred a98g o |
Career planning A1 FReR @fe" safthent SAfRTd
“fee gEe 9 Jes | JAAYS HewEhiE T& ©
W I, YIEfieh SiaeH a1e TIee® |

SHr 3 T QhewRuT ¢ i ferehrn SR

ST ST AETEE Wl §o | I Aifrh 1,
Y T ATEE FIORIEHl Biad T8 oS Wbl
e e T GfFs | Tl Ui SHaReEs!
gt faerraens STeReT T Tl AU STareRul
TR T T g gied ToER A v RS |
o] T T 32T T ALTEE iUl T A g
THehTeh! T 3TTTS ded Hihs |

gft forepra Ao Srafthe T TEAT JeTes Wohl
T Y eyl Y 9f == WEHehshl B | B
=fra gia fasra Tremdl deFme IR =0
30/3Y THH! SHTETE YR 9 §0/90 FHeh! IHL T
FraTeict Wl TS | 3% SATehersh! USTIRI W 714
HuH "I AR IHARE 9 SRS IR
T TS :

@ URAUT (Self Assessment) : SRR TH
Ay, Fafre gE, ToUR &l e faseEeh
Wi =t @A T WS | T8 SO
ATHAEH TEd vE T gA val A T
SRS A S5l S TGS TS Wlehes W
s forgerso 1S | :
gfer e StwwroT (Career exploration) : =9
SoEEA HE TH gH SeE feEne St
forgermy T RS | SSIRAT SUES g1 USRI
FTTEEH! TR FT SHHA T T HISTh
e ITER T T STaTaTE] farga qefehReRta T
7 IO T TG 6D |

futr fmior (Decision making) : 3THHAT I
Hrreran, gl T FAUeR o SISTRAT SUTe g4
yReE Tomeasm s favemn 74 s | fafa=
e a1 SSTEET M-I HE T T
e gfaeTeE T TR §o7 | I8 FEl ot
Aferd TR foshede®e! BAIE T4 989 | I8 =OMl

Q@ T e A S =

ATETS YT SES S YRR T o IS T
SR W UfEEE RS §S | SR e
THM TEF AfheEe AUE TR A S ql
T weuEe o1 3 IRESHIGE®! JNEH, Tl
FET TSI T hreEar s T o
g STIH 9 | :

At w@ee@d (Plan implementation) : I9
SRUMHT SIS W TR SIS Job vacancy i
@ISt T, STHE Bio-data TR T, STHEAE SISIRAT
forepTS TH T TR AT STSA, Saaral fod, fafea
wWeee &Y FREE e | 9 WO g
fooeg ST a TR ST ASTIR W 71 T
TR T WH TS | SR H ISR TH
HieTeEs! TeYfd T SN forg fafea e
Tifgs ThaEEs! TaRl T TRl & SR JRe
T T =R SR 9GS |

ot foew AeweT ATEe

g TR B | FoeEl Hreeesd g fas
eI <A TORE IR T TS W= SRl ==
TNH s | gfa faem ASEE THIARES
gy foegam Wity 3 fas=m wEEee B | 9
faprg Ao iy Aiseee  WEET gEad
Hreoe® (HguR ®Hl B1: .
Waterloo University Model : el fefd
Waterloo University A 99 T Hied AFER
Career planning =i & F&1 TS EEED|
7 | AT A WA TH, FH S
Wi FIEYF T, IS Gesdl STE F
FTIEER! B TH, SSIRAT S Fifeh! AT T h
T, FE 9 T T W TEEehute I qeg

T =RueEE! T S TR B |

SODI Model : &9 9%%¢ T Law and Watts o
yfged el 9R XUl g fawm wee
TieeeE SODI Model ¥ e | gfd faswr
A AT o SSRGh IGEEE T RO
Opportunity ~awareness {0/ ferd RS
Decision making and planning T ElpicepEEal
RO Implementing plan 1 FTHT TR

7w B | SODI Model 1 f7 =HEd =0RE

"{%EBT EL g

S- Self Awareness,

O- Opportunity awareness,

D- Decision making andplanning
I- Implementing plan

¥y ¥y

K *



| ¥ wRem
o FRER @1 TS SRR i e

| Iravama W | e Saaama adr Sl yEeEE
- | dfin sravEs W Ag @ wgaR T Al s |
qu TYHIE SIS (Interest) WfFs | fafim som
aﬁaﬁﬁmaﬁmmwﬂﬁﬁmSmple
Interest 9 7S |
frafm wa fiftee safm =om  fawsioa

FEIIA AN W FFAHE THAEA oS 9 I9eE
WIYRY 7S (Simple Interest) WS |
| & . suRoT ane wRwi wEeEget e

1S (Interest) = I

HeALH (Wrei) (Principal) = P

IS (Rate of Intrest) = R

99 (Time) =T
a9 (Amount) = A -
PxTxR ek 1x100
(i) I——"'-—100 (i) P= TxR
I1x100 .3 I x 100
(ii1) T=__P><R (iv) R= PxT
(v) A=P+I (vi) P=A-1
(vi)I=A-P
TS AU STETITHT Gial I sy g
__Ax100 A=p (100+TR)
~ 100+ TR B 100

e = (Ff¥@ =) (Compound Interest)

Tl AUl e
1. =it =R fagwm (Compound Amount)

R I
C.A.=P(1 + 100)

&l P = i, R = &9 X, T = SHastast
2. @fte 9fkF = (Compound Interest) C.1. =

RNT
p[ (1+165) —1]
el P = §idl, R =41 &Y, T = qeaetast
3. F¥ afts iﬁh‘q fagyq  (Half Yearly
2T
- Compound Amount) CA:=P (1 & 21(}0)

e P=Wel, R=TIN KX, T = RRESER
4. ¥ afis =BFT =N (Half Yearly
Compound Interest) CH: = P

[(1+300) 1]

STl P = 9idl, R = &N X, T = THITa

ez e 3w for. Ram, iE-y 7y €G>




(7]

%. 10,000 #Y 3 as@y fsem 3. 13,000 WY S
wf @ ?

Igl, | (P) =10,000
|9 (T) =394
fasem (A)  =13,000
= (1) =9

TIgER,

I =A-P
= 13,000 — 10,000
=3000

s oS (D) =% 3000
¥. 4500 @Y 2 TE@T AT §. 500 Wg Rrsmw wfr
qar ?

gl, 9 (P) = 4500
94 (T) =24
= (1) =500
fagem (A) =2

W)

A =P+I
= 4500 + 500
= 5,000

s THIYE (A)=%.5,00089 |
ufroer Ry ufr ast 12% @t qeer s fow ot
4 e @i T. 15,000 %oT fwas | 4 @ of
R fevae gw sft @@ @A W Wi |
Igl, gian (P) =%. 15,000

R (R) = 12% Wfe

T (T) =499

=1 (1) =9

fasgm(A) =2
TAGER,

_PxTxR
I =00
15000 x 4 x 12
100
=150 x 48
I =%.7200
fage A =P +1
A =15,000 + 7200
= 22200
a: yiegel feaveRe whgR €. 22200 RA W
TS |
. 10,000 Fr ufrast 12.5% &7 q¥a 9 "l yna

& Rosnm frered ?
g, §ian (P) =%. 10,000
IR (R) = 12% gfaas
99 (Time) —9nf‘3=n———075a'ﬁ
=1t (1) =7
fagym(A) =2
IER,

6. fedier o : v - I

PxTxR
100
_ 10000 x 0.75 x 12.5
100 -

=0.75 x 100 x 12.5
=75% 128 - :
=937.5

I =9375

fagem A=P+1

= 10,000 + 937.5

=T375 7

1 =

- 1, e (A) = 1093759 |

afy et T sooarﬁismawlz%'\rmzdw

- aftfe == foww ¥ = o @ ?

. I8, 9rEi(P) = %500,
FNRI(R) = 12%,
T (T) =@ 23T |
=g fasgem (CA) = 2,
#F|N(CL) = 7
= BT
GHHER, CA= P (1\+ W)
12\2
= 500 (l +m)
112\2
- soo(wo)
112 112
= 3007050 *100
. 2 12544
%7100
= 62720
F+,ClL = A-P ,
=  627.20-500
= 12720
Ja: gy =  ¥.627.201
e = $.127.20

afy wwEt ©. 2800 aTftis suwEY 8% ¥ AT 2 @

Wy aftie e s ¥ o & g7 ?

=g, |Ei(P) = %2800,
a1t AT (R) = 8%,
T (T) = 29
TERER,
A = P (1 - %)T
= %2800 (1 + —8—)2
: 100
~ %.2800 (1.08)°
=  %.2800 x 1.1664
¥.3265.92

3 aﬁqm = CL=A-P

=  ¥.3265.92-%.2800.

=  %.465.92



iy st T 400 TiE SATET 16% T THT 3 a8

WY At e fowe ¥ af g 2
Ig, WEt(P)  =3.4000,

MY AN (R) = 16% T

w94 (T) =399,

o (1 R)T'
A = PMl+7p0
16

3
= 4000(1 - 100)
116\3
116 116 116
= 4000 x356 100 *100
A 1560896
= 4000 7600000
=  6243.58
ClL= _A-P
¥. 6243.58 - %. 4,000
=  %.2243.58
37q: THYYE = %. 6243.58 TS = $.2243.58
afy 9@t & 10750 aftie saweR 10.5% T 96T 3
T WY At et frstue 3 e wf g

7, WEi(P) %. 10,750
FER(R) = 10.5%T
93 (T) = . 394
BEEFUIN
K ( L)T
A = P 1+100
10.5\3
= 10750( 100)
110.5\3
110.5 110.5 110.5
= 10750760 ¥ 100 *100
1349232.625
= 1075x 60000
= 14504.25071875
5 = . 14504.25
T, CL = A-P
= 14504.25-10.750
= 375425

3q: THIYE =%, 14504.25 TSN = %. 3754.25

afy s %.7500 aftfe sy 5.5% ¥ @RT 1 @
uqmﬁaaaﬁaﬁrmwwasﬁrw?

gl, §rEi (P) = %.7,500,
1 =shia X (R) = 5.5%,
T4 (T) = 199
fasem (A) = ?
PIAGER,

R
P(l +E6)T |
- 5.5\1
= 3. 7500(1 +T66)
= %.7500 (1 +0.055)
%. 7500 x 1.055
%.7912.5
AP
= %.7912.5-%.7500
= %.4125
Fa: gy (A)=%. 7912.5 TN =%. 412.5
afy w7 2370 aftfe SRR 7.5% T ¥R 2 @
aqalﬁaaaﬂwm'\r I & @' ?

= (1)

g, WraEi(P) %. 2370,
NI (R) = 7.5%,
TI(T) = 29§
faggm(A) = 2
AR,
R
A = P(I +'1-(%)T

o 15\

N 370(1 s 00)

= 2370 (1 +0.075)2

= 2370 x (1.075)2

= %2370 x 1.155625

=  %.2738.83.
&I = A-P

¥.2738.83 —%. 2370
=  %.368.83.

3a: gy =%.2738.83 TN =%. 368.83 5|

T T 21800 swa@rd fowasr 3 wigamer @nhr
=oT fTuEd | Svaw yeaw €. 33,136 fimat Rgaw
WA, I B AT GRAT 0T (g G ?

Igl, §ia (P) =%.21800
94 (T) =19 a4 3 =fe = 3.25 a4
fasem (A)  =%.33,136
N (R) =2

PAGER,

() =A-P
" =33136- 21800

=11336
=N () =% 11336
Again,
eI R = ?
TGN,
Ix 100
R =97
11336 x 100
~ 21800 x 3.25

o B B B B mEev <



_ 11336
~770850

;. WL (R) = 16%
I: ST 16% SASIETHT HO fAueh ©®S |

M =fr et 5.600 ot far 2 asufy §.72 s
Eeg ?

T,

&t (P) =%.600

54 (T) =294

= (1) =%.72

eI (R) =2
" 1x 100 72 100
Ix %

R="PxT =600 x2 ©°=6%
T (R) = 6%

7| 5.400&1&%%31@1#9%31&;
e IR ST B e
R

&t (P) =%.400
W(R)=10i2=2-—2l%
I (T) =199 9 #fe
9
=(1+ lz)aﬁ
_4+3
T 4
=l4aﬁ
wrEl T (fagem) (A) =2
FAFER,
4 _P(100 + T.R) (“ AXIOO)
> 100 ~ (100 + TR)
7 21
_400(100+ AN
A 100
_ 4(800 + 147)
= 8
_%47
)2
=%473.5

I 6l TS TR ST & = %.473.5
4 AT T. 450 TE WY AW WA T. 540 WgG WA
T AEIAT BT e s 5 aEEr §

637.50 & ?
g, Ul AAATER,
w4 (T) =494
fagem (A) =%.540
gt (P) =%450
R (R) =2
=1t (1) = A —P=540-450=%.90

< wEE-a:Pa

m}
X X

E'J"W‘(R)JP i('}r():ggso 10;):5%
T,
AN TARTIER,

TSI (R)  =5%

¥r&t (P) =9

fasem (A)  =%.637.50

94 (T) =599
AR,

__Ax100  637.50 x 100 _

5%

100+ TR~ 100+5x5
¥a: 98t & (P) =%.510

T. 400 B 5 TEiEY AT T T. 600 B 4 TEEHT ATH
Th ST T AT §. 132 WA T qAY sASGY SHW
WA SITee] S g ?

-qgfr
ufEr o
- gt (P) =%.400
w94 (T) =594
o = x% |
T400 x 5 xx
L (O R T
T v
wrat (P) =%.600
T4 (T) =494
FERIX(R) =x%
. X X
=1 (I) =P113.%=3 6001004 X 24x
TRAIGEN,
L +L,=%.132
or, 20x +24x=1%.132
or, 44x=132
_132
=

=eIET (R) = 3% Wi a9
IFEOA 2065 EEW 1 TN 5 @ Jar aiiE 6.5
yReE TURUT sTeGRAT TR Yeer T s
Waq | 2070 T W AOEAST g 9o e
firmr I gw it W TRER ?

qﬁ)
2070 -10-30
2065 — 10 —30
Sk T Syears
() =599
R (R) =65
wmEi (P) = 5,00,000
= (T) =?
PTR
~ 100



_ 500000 x5 x6.5

> Tk

=5000 x 32.5

=1,62,500
FA: TR 2070 TS A FEHEH ﬁm fopaay
500000 + 162500 = 662500 T THY= IS |

T Far 10 awfr FgAow (150 whw) & afy @

aIfiie JUROT e B 54 W ? Iow W 8 |

%uﬁmmauamtﬁrww ?
" et v |
qiar (P) = x |El
I (T) = 1099
I (T) =3—"
WR—?

Ix 100
R= PxT
3x

2><100

xxlO
=3x5
=15%
3 Il
wiar(P) =x
; 1

w4 (T) =83 EL

N =
e (R) = 2
_Ix100
- PxT
_xx100
25
xx3
=4x3
=12%
&q: I T 3 T4 4 A R T AR 12
YRS |

ma&mﬁmmmu&mm
YorT 3 @W T 7 IEET 9T RIS T

90250mw&m5ﬁrm&mv&m
- ?

ﬂﬁ,m@aﬁmm=ml—5§3 |
T,

giar (P) = x =@Ml

I (T) =199

= (1) =xxé=%
SIS (R) = ?

Ix 100
PxT
%XIOO
xx 1
_xx100
T xx12

We have, R =

3
25

=?%
Now, ¥9a(T) =74ad%
25

TR R) | =5%

g (A)  =%902.50
gian (P) =9
We have,
A x 100
P =700+ TR

_902.50 x 100

100+7x235

~902.50 x 100
~ 300+175
3
90250 x 3
T 475
=570
3 GiaT (P) =%. 570 ®D | -
TV ¥. 1000 T Y@@ ST ST e |
IEX 5 FEAT Wiar AW NY @A T 1637.50
W IRE # Yo S gh SRy s IRar

XE ?
T,
gla (P) =%. 1000
94 (T) =594
fagem (A)  =%.1637.50
A =A-P
=1637.50 - 1000
=637.50
eI (R) =2
Now,
_Ix100
T PxT
_637.50 x 100
© 1000 x5
_637.50
=50
=12.75

3q: I el 12.75% S HEH TR ©F |

oz aforr 3 . ey, E-v 7y €GP



¢ 4

ﬂmﬂmsmwtmmm
gﬂimtﬁrﬁm?

gien (P) = x AR
I (T) =899
=N (D) =xTF, Rﬂmtmﬁwsﬁmﬁ]
e (R) =2
We have,
_Ix100
T PxT
_xx100
T xx8
=12.5%
3 SR (R) = 12.5% &3 |
3 ad@r 8 URhwEe . 2250 @' IHRUT X abR
T faeeT We aid w7 ? '

e,
4 (T) =399
e (R) = 8 Wi
giar (P) =2250

IR =1 (C.1.) — 91ER0 & (S.0) = ?
Now,

R\T PTR
] (1+105) -1~ o0 =
8 )3 2250 x3 x 8
=2250[(1+100) —1]— 100
=2250[1.08]° — 1) - 22.5 x 24
= 2250 x 0.2597 — 540
= 584.325 — 540
=44.325
;. WYRY oI T AR oS foaesl v T
44325 |
T 8% Afdia ITURUT AT WS Iy B faferr
FET (HA T IRST B | IA@r WA A
qeax g B AnEe fehiar FRIT Ireque ?
-qu’
ISR (R) =8%
glar(P) . =x®E
fagem (A)  =2x
1= (1) =A-P=2x-x=X
54 (T) =1
TGN,
I x 100
~ PR
_xx 100
~ xx8
100
8 .
12.5
mmemm
12 =¥ 5 #Afen ww fodig dem 1

e o - g -1 - v -

7| wmmmwm{a & T

T waY ST 10 FEAT fnm 1500 g WY IR
YHWT AT TR IRBT THW Wi ot f ?

i

3.1ﬁlaﬁrm*6.516§a

3. 1ooaﬁ1aﬁa$rm21—0x100§3|

%. 100 Y 1 IR AN T. 5§D |
3a: T. 100 F 1 TR A A ATHRED |
. IR (R)  =5%

w54 (T) =104
fagem (A)  =1500
gfar (P) =7
IR,
P A x 100
=100 +TR
1500 x 100
100+ 10x5
1500 x 100-
150
=10x 100

=1000
3Tq: 3T NHH1 o1 ST TR T . 1000 /W |

AT WEARE SR SR TRYEeT T
EIW6';‘% TE 8% weTIgT Ttie A T

40.50 &R T WA BT AT TEAT ARYGDT W ?
qu}
I (T) =19
Teh T Feehl =41 (I) = 40.50
g U e X (R) =8 — 6.5
=1.5%

el (P) = 2
TR,
Ix 100
P ="1Rr
_ 40.50 x 100
=T1x15
4050

S~ =2700

4: ST HIEAFTH! T. 2700 ST TR © |

T THHST AW 20 TEAT WD Geay g WA
TR FRY AT ? 25 TN JeAR g W f g
A TIEHT SATRR Hiaw q@t grar ?

qﬁ;
mml
Hiar (P) = x AE
T3 (T) =209

famed (A)  =2x



N ()=A-P=2x-x=x
eI (R) =2
IR,
I1x 100
K =1
_xx100
T xx20
R =5%
A I,
e (P)
3 (T)
Tagem (A)
I (1)
SSRY (R)
YAFER,

R

= x HH!
=254
=3x
=3x-x=2x
=?

_1x100

- PT

_2xx100

T xx25

=2x4

=8%

ra: T 7w e AR 3% AT B |

. 800 WY 2 @ uRy 5% aftie afrr ST
ffemw afrr =w T b fonm W

awmgm{ |

maT ®) =%.800

ISR (R)  =5%

94 (T) =299

|Ra & (C.I) = ?

=R fasem (C.A) =2
AN,

SRS (CI) = P[(l + 1—%6)T — 1}

a1+ 1]

=%.800 (1.1025-1)
=%.800 x 0.1025

=%.82 Ans.
R T
100)

5 2
=%.800 x (1 + 1 00)

=%.800 x 1.1025
=%.882

T,
| =tRa fagem (C.A)= P(

or
A =P+I
=800 + 82
=882
37a, AfRa sy % 882 T e = % 82 &)

Zaﬁﬁmﬁzaﬂmﬁmmﬁ!&a
TAEHRT TI) ¥ oW W IE | IR aitie
mlS%mmmw&wm

e |
TR, TG (P)  =xT |
94 (T) =294
el (R) =15%
TR =411 (I) PITO% e 120015
3x
—‘1'6—03x
T,
|Ra SITSTHT T,
@&t (P) =x
g (T) =274
=S (R) = 15%

=R = (CL) =P[(1+1LOO)T 1]

15
= "[(‘ 100) 1]
=x(1.3225-1)
=x(0.3225)
TEIIER, CI-SI=%.90
or, 0.3225x-0.3x=%.90
or, 0.0225x=%.90
—0233 5 = %4000
FA: YA (F1ET) = .4000
M 10% =it wfrr =g &% @9 %.60,000
afear frswm %.79,860 8 9T @R T WA 7

or, Xx=

I, W&l (P) =%.60000
R (R)  =10%
99 (T) =
%Y (C.A) =%.79,860
Frope,
GAGER,
T
=Rg fagem (C.A) = P(l + —1%)
10
or, 79860 = 60000 (1 e 00)
79860
or, (1.1)"="¢5600
or, (1.1)"=1.331

or, (1.1)'=(1.1)
= T=3
s AEEE I (T) =399 |
M zoaﬁma&mmmﬁmm
:ﬁﬁrmmwwv

qiar (P) = x HHI
g (T) =20 o

el T 3 or. Rrdrg, v 2y <>



3|

fagvm(A) =2x
= (T) =A-P=2x-x=Xx
e (R) =?

PR,

R =Ix100

e (P) =X
eI (R) =5%
fage(A)  =3x

=< (1) =A-P=3x-x=2x
14 (T) =7
TEER,
I1x 100
- PR
_ 2xx 100
~ xx5
=2x20
=40 99

31d: 40 IHHT I WH TSR TS |

o uatyr gfves wfw ¥ 50 AT € 10 SATSERd
ﬁwaﬁrmmaa“\rm?

g, TTER
] TEHI % S0 R AT 10§D |

laﬁmﬁ.laﬁma%%wl

1 99T . 1003%@133.%“00 =%. 20

9 |
I SN (R) =20%
Hiar (P) = x TFI
fagem (A)  =3x
1< (1) =A-P=3x-x=2x
54 (T) =0
AR,
Ix 100
- PR
2x x 100
T xx20 DX
=1094

3Tq: T T AT qeR g 10 T8 e |
5 asET RS €. 750@?%#1%:@1%1-13-

@Hﬁw'\rmﬂﬁmﬂm |
-quY

T4 (T) =599

fagem (A)  =7%.750

Q f?ékmsr: HHE-H : T

™y (P) =x
=1 (1) =xx%=§
=SS (R) =9
TR,
: Ix 100
R ="pT
%x 100
T xx5
_100
15
R =6.66%
Again,
_Ax100
~ 100+ TR
_ 750 x 100
" 100 + 5 % 6.66
75000
~133.33
.. P=562.51

314 sISTeL (R) = 6.66%, Fiell (P) = 562.51
T 10240 v 3 T 12.5% ARG SAGGIS T
a@am?wmmﬁrmm ?
I3, :
et (P) = % 10240,
gga(T) = 39N,

WR) = 125%

THRAIER,

wERu S = SL
_ PR
= 100
10240 x3 x12.5
- 100
= %.3840

THE N = P[(l +-1%)T- 1]

12.5\3
= %.10240 ((1 o+ 100) - 1)

= = 10240 [(1+0.1253 -1]

—  %.10240 [(1.125)3 - 1]
%. 10240 (1.423828125 - 1]
%. 10240 x 0.423828125
%. 4340
Fqa:CL-SL=__%. 4340 —%. 3840

= %.500
iities =i STt 12%asrm2asiawarﬁr§
25000mmm2mmm
Hhr oAl awuet ?
I,



wr&i (P) = %.25,000,
SRR (R) =  12%,
T (T) = 2739,
faggm(A) = 2
IR,
A = P(l +%)T
or, CA = 25000(1 $ 1167'0)2
= 25000 (1+0.12)2
= 25000 x (1.12)2
= %.25000 x 1.2544
%. 31360
34 Hﬁhmqﬁﬁm = fagy - gt
= % 31360 — 25000
= %6360

3asiaranﬁr10§-%a1&hraaﬁummw

war Wi WEer fgwr € 10,000 difegsr
FHTAT TqCHT Il A WY qTafel SATSTT Ufer sATeT
foet TR e R T swETE WY ufer geer
WY WA SATHDT TN Bt THH SEAT Tt ?

R : .

- gt (P) = %.10000,
I (R) = 10.5%,
94 (T) = 399,
g A) = ?
PR, .
T R
A = P(l 3 00)
~ 10.5)3
A = 10,000(1 +gu oo)
= 10,000 (1 +0.105)
= 10,000 x (1.105)3
= %.10000 x 1.3492326
= - %.13492.33.
N = A-P
= %.13492.33 —%.10000
= %.3492.33

J(A: GYRISY U ST = F. 3,492.33
T. 5,000 & 8% HT TN 2 TE@T AG T
nfarities @ fronm foerelt. freflee dfemr wet
I AT TR (wteery |

%. 5000
8%
2 99

N [
' s
/I | | R B |

EEAFER, !
X R\
e P(‘ g 100)
- 8y
- 5000(1 + 100)
= 5000 (1 +0.08)2
= 5000 x (1.08)
= %.5000 x 1.1664
= %.5832
(D) = AP
= %.(5832 - 5000)
= %.832
T 2 et refarfiies sarerR! i :
TE (P) = % 5000
S SR (R) = 5 % = 4%
I (T) = 299
= 2x2
© = 4 ey |
fages (A= 2
SN = ?
RGN, - .
- R\
A = P(‘ + 100)
— b 4 4
= 5000( 100) -
= 5000 (1 + 0.04)4
= 5000 x (1.04)%
= %.5,000 x 1.1698585
= %.5849.29
S0 = A-P
= %.584929%. 5000
= %.849.29

A 2 IHTHH! MY T refanfiies <wan Fepiferaent
TSI AR

=  ofsca oA — Aferesil sast

= %.849.29-%.832
%.17.29
FEATSAT g WUaT ARGHT S T T gEaner
TS HFOAlgead JEHeeals  Sehiid a1
uieRaaET S WEAR FFE TE 6/6 wiamT
oW o T wEdt W ST wear aears
aiftie 13.5% = Ry wwow w=v ) R T
mm@mmﬁrmﬁmls
e e fifr swemr | o worr T stomr
WU T lsoooomzmmﬁrgg?ﬁm
T T fER R W o gl awents A
BFAAT AT I S0 §o 7 HIRUT Ufer ey |
TR, S’ WEART HEIHT ST TS

i (P) = %.1,50,000

oz i e 1. g, aE-v vy €G>



1t STl
Fearys = < (R)

13.5%
13 S
%

=6.75%
TR(T) = 294=2x2=4 qdafiies |
fase= (A= ? :

CHIER,
ROT
P(l +7 00)

A —
6.75\4
150000(1 + 100)

150000 (1 + 0.0675)%

150000 x (1.0675)*
150000 x 1.2985883
%. 194788.24
I Iet ‘S’Wmmgﬁﬁm 5.
194788.24,
BR ‘T’ g SHEITeh] i :
wrEt (P) %. 1,50,000
1t ST <X 15%
T4 (T) 2 94
faga (A) ?
PAIER,

_ R\T
A = P(1+100).
: 5\

1
1 50000( 100)

150000 (1 + 0.15)2

150000 x (1.15)2

%.150000 x 1.3225

¥. 198375
mwﬂrmﬁTmmgﬁﬁw (A) =%.
198375.9 |
3 SITM‘T’WW@W
= TR fHgem - S’ are e g fHeem
= %.198375-%.194788.24
= ¥.3586.76W G B |

TS T I TG ST TG T D |

. 9,900 Wfamwr 9y VW T A B AT T
990 WIRUT AT UTgee® ? - 90
How much years need to gain Rs. 720 simple
interest of Rs. 1200 at the rate of 15% per

annum? (RBB, T&-4, FETTF (TIR) 2004/03/¢F)
Sol™:

=gl =&t (p) = 1200

= (R) =15 gfawrd

R = (SI) =720

54 (T) =9

g AR,

<@ T TP

_ Ix100_ 720x100 _ 720 _
PR 1200x15 180

&d, 1200 I 15 Ufwa SR 4 THAT WERT
N 720D H

B %% THHST TR TS q @ T Q AW FRA: ¥
390 ¥ T 9381Y0 T | w wiw wi@r @
SATSGY Wiavd ¥ J% V@oR T aoege | - 90
The compound interest of a sum of money in 1
year is Rs. 350 and 2 years are Rs. 724.50
respectively. Now, find out the rate of interest
compounded yearly and the initial sum.

(RBB, T&-Y4 aRT TETq%® (A7) 2004 /0/{0)

Sol™
=gl ufeet 1 o
e (P) =X
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- While Rs. 68,000 is invested at the 8% per.
annum (compounded semi annually), what will -

be the amount at the end of 5 years? How much

more amount (Rs.) will the investor earn in this

option of investing insted of investing in simple
_interest system? Find out.

(RBB, T&-Y IR Terg® 2004/ ¢¢,/07)
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A student taking a loan of Rs. 15,000 purchased a
compute r at 12% rate of interestper annum. If the

loan is to be paid back in monthly installment basis -
over 2 years,how much amount should he pay per

month?  (RBB, -4 dRT FETq® 200%,/03,/20)
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If the compound amount of a sum of money in 3
years in 26,620 and in 4 years the compound
amount is Rs. 29,282, find the compound rate of
interest p.a. andthe initialsum of money?

(RBB, T&-¥, T TET% (TIR) 2004,/04/ )
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If 45 students obtained more than 70 marks™
among 60 students, how much percentage of
students got lower than 70 marks ?
(RBB, T&-5, TerMq% (T75) 2004,/03/¢%)
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In an election, a candidate got 75% of the total valid
votes. If the total votes were 5,60,000 and 15% of the
total votes were declared invalid, how much votes did the

candidate get? (RBB, T&-¥, ARD Telq®, 2004/ ¢/ 0T)
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- A shopkeeper bought 600 oranges and 400 bananas.

He found 15% of oranges and 8% of bananas were

rotten. Find the percentage of fruits in good

condition. (RBB, T&-¥ ART Herq® 2004/ 03/20)
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A man bought two bicycles for Rs. 2500 each. He
sold a cycle at a 5% profit. Howmuch should be the
selling price of another cycle to make 20% profit on
both of thecycles together?
(RBB, T&-4 ART HErd®, 2004/03/2%)
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